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Questigns 1 fo 10 carry 1 niark each. Question ﬁ to 15 carry 2 marks euch.
Make: your choice (1, 2, 3 or 4). Shade thie correct aval (1, 2, 3 or 4} on the
Optical Answer Sheat (OAS). (20 marks)

1. Whatis the value of 7d + 2d -3 if g = 127

1) 84
2) 105
3) 108
4 111

2. Find the difference of 63 tenths and 105 hundredths.

1) 525
2) 7.35
3) 525,
4 6195

8. The totalmass of 8 kightical magazines is 2.08 kg What is the total mass of

2 magazines in grams?
1 260g
2y 3504¢
3) 520g
4) 700 g




4, David started on his Math fiomework at 2.35 p.m.. If he- had
comipleted his Mafh homiework at 4.05 p.m., how long did David
take to complete his homework?

1) 1h20min
2} 1630 win
3} Z2h1CGmin
4) 2h30min

5, Lim started filfing up a tank with water at 7 a.m.. The tine graph shows
the level of water filfed from 7 a.m. to 11 a.m,
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7am.  Bam.  Sam.  10am. 11 am.
Dusring which 1 h period was the increase in the volume of water
the greatesi? ' ‘

) 7am.to8am.
. 2) Bam.to9am.
" 3) - 9am to10anm.
4) 10am.to1i.a.m.



Natalie reads 350 pages of a book in a week. If she gads 5. riiore, pages
than the previous day, find the number of pages’ she reads on the last

day.

1} 35

2y 59

3) 65
4) 105 . .

The figure below is made up of 4 simitar semi-circles. Find the area of the

shaded area. (Take % = -2;3)

28 cm

1) 168 ¢m?

2} 154 cm?
3) 44¢m?
4} 42cm?




In thie figures below, Solids A and B are made up of unit cubes.
How raany unit cubes have been added to Solid A to forra Solid B?

SolidA Solid B
B 1
2) 2
33 3
4) 4
A Formula-One racer completes 40 kaps on 2 10-kny track in 1-_2-_- tiours.

What is his average driving speed?

1) Skmvh
2) 32kmmh
3) 50 kmih
4) 320 km/m



Use the diagram below for question 10,

10.  The figure shows 4 small circles in a big circle. Find the perimeter of the

shaded part. (x = —2;%)

‘i') 44 cm
2} 88c¢m
3} 178 em
4) B16cm




11,  There are an equal number of puipils in class 6A and class 68. The ratio of
the riumber of boys to the number of girfs in class 6A is 1 : 3. The rallio of
the riumber of boys to the number of girls in class 68 is 1 : 2. Find the
ratio of the number of Boys in 6A to the total nuniber of boys and gidls in

both classes,
1) 1:7
2} 1:8
3) 3:

4} 3:8

12.  The diagram is made up of two squares and an equitateral triangle. Both
W and X are squares. The length of Square W is wice the length of

Square X. Find the petimeter of the figure.

1)
2)
3)
4)

54 cm
45 ¢m
42 ¢cm

3
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13.

14.

The table shows the charges for Fast Taxi in Singapore. 8r Tan needs to
travel from his home fo the Airport at 1.00 a.m. He made.an advance
phone booking amd fravelled: a total distance of 21 5 km, how.much did

he have to pay in all?
Fﬂf mmae@em t0km $0.52 perkm
For subsequent 1 km or part thereof $0.60 perkm |
Midnight fo 559 am. wsn%'ofmetéred S
.. i ddre

Advance Phone Booking Surcharge | $8.00

1) $14.60

2y $22.60

3) $24.70

4) $29.90

During a cafmival, Kayden dcnatéd‘ 36% mare books than Jason while
Lenn denated 50% less hooks than Jason. If the 3 boys donated 196
books altogether, how many more books than Jason did Kayden donate?

)
2)
3)
4)

14
2t
56
¥




15. The fable with 4 columns is filled with numbers in g cerlain pattern The
first 4 rows of the table are shown below.

" Column A [ B C D

T Row i 1 T3 5 B
Row2 ST E) 7
Row3 13 | 15 A7 RN
Rowd VIR Y H R T S |

In which column with the number 135 appear ?

) A
2) B
) C
49 D
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Questions 16 to 26 canry 1 mark eachi. Wiite your answers in the spaces
provided. Give your answers to the units stafed and 1o its sim plest form

16. John has 7m of raffia string. If he tieeds %— m of raffia string to tie a
parcel. What is the number of parcels he can tia?

17.  When -i- of & number is divided by 8, the answer i 12, What is the




18,

A confairier can hold 18 fitres of orange juice when it is full. if % of the
contalner is filled with orange juice, how many 150-mi ctps are needed to

fill the arange juice ftam the container?

Answer:

9. The length of the sides of a rectangle is -a% times its ‘readh, What
fraction of the perimeter is ifs breadi?




20. K»emnshﬂymashngcf?aduﬂsmdﬁchz!dfendmedm Deficious
Café. For every paying 3 adults, 2 children dine for free. How much do
they have fo pay if ali the family members want for the Lunch buffet ? |

Belicious Café's Buffef Lunch:

Child price: $13.90
Adult price: $21.90

for promotion deal
| Every 3 adults, 2 children dine free

Answer: $

2. Ata staﬁonery shop, there were a'total of 120 pens and erasers. There
wers 3 times as mary pens as erasers. After some pens and 12 erasers
wemsotd ﬁienmnberofemmgteﬁvmswcemenumofpem. How
many pens were sold?




22. Franklm tiavelled from Town A to Town B, which is 15609 m apart. f he
took h find his speed for the whole journey.

Answer; km/h

23, Andy had twice as many stamps as Ben. -Affer Ardy gave sorie-of his
stamps to Ben, hoth of them had the same number of stamps. I they had a
total of w stamps, how many stamps did Andy give to-Ben? '

Aniswer:



24, Cally dnd Danny started off at the same time from Town A'and-drove to
Towrt 8 at an average speed of 96 lawh and 114 kivh respectwely
How far apart would they be after-travelling for 50 mipytes. w:thout

stoppirg?

Answer: _km

25. . The figure below shaws 2 similar semi-circles with a radius of 4 ch.
{f point © is the ‘entra of the-circle, find the perimeter.of the figure.
Give vour-answer in tétms of 1.




Questions 26 fo 30 carry 2 marks each. Show your working clearly in the space
below each question and write your answigrs in the spaces provided. Give your
answers fo the units stated and to ifs simplest form whenever necessary.

: , {10 marksy

26, Allin scored an average of 91 for al her 4 subjects. Her average score for
English and Math is 96. Given that.she scored 10 more marks in Mother
Tongue than Science, what was ker score for Science?

27.  The tatio of the mumber of stickers Aaron had to the fotal number of
stickers Benedict and Caleb had was 2 : 3. The ratio of the number of
slickers Benedict had to the total number of stickers Aaron-and Cateb had
was 4 : 6. Findt the rafio of the number of stickers Aaron had to the number
of stickers Benedict ad to the number of glickers Cateb had,




28. During a sale, § plates and 11 bowls cost $89.20. A plate and a bow! cost
$12.80. Mrs Tan bought 2 plates and 3 bowls. How much did Mrs Tan
have to pay?

Answer:

29. At a sale, Mris Toh hought some similar T-shirls and paid $144 afier
getting a discount of 20%. With the given discount, she was able 1o buy
ahother 3 more sifdar T-ehids How many T-shits did she buy
altogether? :




30. Every Saturday, Mabel wili go for her usual exercise. If she runs up 32
steps and walks tp 68 sieps, she will take 184 seconds. If she rurs up 50
steps and walks 50 steps, she will take 175 secouds. If she runs at the
same rate throughout the whole exercise, how long will she take to run the
100 steps? ;

Answer:.
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Questions 1 to & cany 2 marks each. Show your imathentatical stafements cleardy
in the space provided for each question and wile- your answers in the spaces
provided. Give your dnswers {0 the units stated and: to s simplest form
whenevernecessary, , e (tO marks)

1.

Churchill worked 4 months and-earned $12 000. He wauld receive an
additional bonus of $2 000 for every 5 months he worked. How many
years did he have to work to eamn $80 0007

Answer;

The figure below Is not drawn to-scale, ABCD Is a trapeum
isosoeles iiangle. LABC = 121%and £BED =112%. Find ZADE.

D




For every 55 minutes Mindy exercised, hier broflier exercised —ii hour more

than Mindy. When Mindy exercised for 5-:-{2- hotirs in a week, how many

hours had her brother exercised in the same week?
Express your answers in terms of hours.

May has some flowers, If she amanges 9 flowers in each vase, she wil
havea 6 flowers left. If she arranges 11 flowers in each vase, one of the
vases will have anly 7 flowers. What is the number of flowerg May has?




5, Confainers A and B contained water as shown below,

Container A Container B
All the water in Container A and B were poured into 2 emply water tanks,
C and D without spilling over. If the heights of the water in both water
tanks are the same, what Is the height of the water level in Tank G?

Wom

Answe-r: ‘




For questions 6 to 18, show your steps clearly in the space provided for each
question and wiite your ahswers in the spaces provided., -

For questions which require units, give your answers in the units stated,

The number of marks avaifable is shown in brackets [ ]at the end of each
question or part-question, ’ (50 miarks)-

6. Phoebe's annuat expenditure is -2 less than Chloe's and —;- mare than
Dexise. If they spent $34 020 in a year altogether, find Denise's monthly

expenditure,

Answer- e [3}

7. Kenny had some blue and green pens in the ratio 3 : 4. After he gave
- away 28 blue pens and bought another 12 green pens, the number of blue

' pens Kenny hias is now % the number of green pens. How many green

pens did Kenty have at first?

Avswer_____ @



The figure below is not drawi fo scale ABCD is a rectangle. AXD is an
isosceles friangle and AYZ is & right-anigle isosceles triangle. AB = 22 m
and CY = 6 m. Find area of triangie AXD. '

22m
A'{_, — B
X
Z Y
6m
o C

Answer; . : [3]

The figure below is made up of ftwo quaiter cireles each of radius 7 &y
and two identical right-angled friangles, The shaded part is a square. If
the helght of the triangle is 4 cr, find the area of the whole figure.

(rakex=;__?-;?,;




10.  The diagrams below show two different orierttations of tfie same dice. The
lotters on the faces of the dice are'A, B,C, D, Eand F.

b

a) Which face is opposite letter £2

Answer: _ : 4

b) Below is a net of the dice. Filfin the missing letters on }he net.

D

L Y ; i




1. Atapetshap, the price ofa ftamster is $y. The price of a rabibit is thrice the
price of a hamster. The price of a guitiea P is $9'less thaa the ptice of a
rabbit. Gavin spent $760 on 3 rabbifs, 5 guinea plgs and a number of
harsters. Given that the price of 2 rabbit i 969, how many hamsters did
he buy? ' _

Answer [}




12

)

In an auditorium, 30% of the-seats are reserved for the platinum class. The
ratio of the number of seats for silver ciass fo the number of seats for gold
class is 12 : 13. Affer the auditofium underwent a renovation, the number
of seats in the auditorium is increased by 20%. There are now 1 440 seats
reserved for the platinum . class.

How many seafs are reserved for the silver and gold class afterthe
renovation?
How many seats are reserved for silver class before the renovation? -

Mer:a)‘ o [1]
L) S 381




13.

David and his brother John decided fo cycle from his home fo the library
using the same route. They started cyclitig at the same-time. David cycled
at a speed of 15 ki/h, Both of them did not change their speed throughaut
the race. When John covered % the distance, David was 4.5 km ahead
of him. David reached the library at 4.45 prn. What fime did John reach the
fibrary?

Answer : : [41

10




14. Billy had a piece of Ad-sized paper measuring 26.7 cm by 18.4 cm.
He cut out a square of side 5 cm at each of the commer as showi,

f o oes sc‘ﬁ
A ot
8.4 ¢y

Billy then folded the sides up, taping the comers to form an open
box as shown below.

a)  Find the volume of the box. :
b) Find the maximum number of 2-cm cubes-that can fit into the open
box. '

_Answer:-a}_ . m |
B R

i1



15.

Aminda bought some red, yellow and biue beads to make a necklace. -é

of the yellow beads were equai to % of the red beads. The number of blue

beads was -l%- of the total number of red and yel!dw beads. If there were

64 more bllie beads than red beads, how many beads did Aminda buy
altogether?

12




8.

Micah spent half of his money and an additional $324 on a television:
Then he spent % of his remaining money and an additional $55 on a DVD

player. Then hie spent 0.4 of his remaining money and an additionat $18

on a music player. If he has $168 left, how much was the television?

Answer' g 5}




17.

Nicole recetved more money than Tricia from their mother. 40% of Tricia's
money is $16 less than 25% of Nicole’s money. If Nicole gives 35% of her
mosiey to Tricia, Nicole will have $12 less than Tricia.

a} How much money does Tricia has?
b) How many per cent more money does,Nicale has than Tricia at first ?
Round off your answers to the nearest 2 decimal ptaces.

Answier : 8} _ SPECR /|
b) - : 2}

{4




18.

in the figure below, ot drawn fo scale, O is the cenfre of the circle,
OPQR is a square and OS is 14 ¢m. Use the calculator value of xto
find the shaded area.

Round off your-aniswer to the niearest fwo decimal piaces.

15
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Q1] Q2103 ]04[Q5] Q6] 07 [ 08| 29 [o10 Q1l Qzé Qi3] 014[ Q15
2 1 3 2 4 3 4 4 4 3 2 4 4 2 pA

16)25 17)144 18)90 19)1/5 20)$167.20
21)81 22)45km/h 23)(w/6)  24)20km 25)(8 = +8)
26)81 27)18:20:7 28)$29.80  29)15 30)150
Paper 2
1)2 years 2)68- 3)10h 4)51 flowers 5)8cm
6)$675 7)136 8)308m:  9)84cm: 10)a)8B B)ABC
) F
11)69 x 3 = 207 12)a)30%-->1440 o
760 — 207 = 553 70%-->(1440--30)x70 = 3360
69 -9 = 60 b)1440 + 3360 = 4800
60 x5 = 300 ' 120%-->4800 '
553 — 300 = 253 o - 100%-->(4800+120)x100 = 4000
69--3= 23 70%-->4000/100=70 = 2800
253+23= 11 hamsters 280025 = 112
112 x 12 = 1344
13)5.39pm © 14)a)5+5=10. 14)b)16.7 2 = 8.35
26.7 —10 = 16.7 | 84%2=42
18.4-10=8.4 © 532=25

16.7x8.4x5 = 701.4cms 8x4x2 = 64



15)288

16)3u>168+18 = 186
1u>186-+3 = 62
5u>62x5 = 310
5u->310+55 = 365
1u>365:-5=73
6u—>73x6 = 438
4384324 = 762
762+324 = $1086

17)a)35% x (8 = +64) = 2.8 = +22.40
87 +64—2.8%+22.4 = 5.2 1 +41.60
S+ 28n+224=78r+ 2240
527+ 41.60 + 12 = 7.8 x + 22.40
5.2n+ 53.60 = 5.2 + 53.60
781 —5271 = 53,60 —22.40
2.6 = 31.20
17 =31.2052.6 = 12
5x=12x5 = 60
b)100% N>160% T + 64 -
= 60 x 1.6+64
= 96 + 64 = 160
160 — 60 = 100
100/60 x 100 = 166.667 ~166.67%

L8)Area of guardant = % x = x14x14 = 153.9380
(153.9380+2x3) = 230.9070
Area of square->14 x 14=196
196 — 153.9380 = 42.0619
196 — (42.0619) =.111.8760
111.8760+-4 = 27.9690
27.9690+230.9070 = 258.8760~258.88cmz
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